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QUESTION 1

Which tool can change the name of a form?
A. Form Builder

B. Data Modeler

C. Reports Manager

D. Association Manager

Correct Answer: A

QUESTION 2

When looking at a workflow instance there is a switch that is inside the body of an iterator that shows that both sides of
the switch were executed. Why?

A. Each side alternately executes in switch tasks.

B. Each side was executed during separate iterations.

C. Each side was executed because the switch criteria was left blank.

D. Each side is shown only when the last two iterations resulted in both sides executing.

Correct Answer: B

QUESTION 3

A My Reports report has been designed to return the assets associated with the user logged into the system. When the

report is run by the user it returns all the assets in the database. The user has been assigned assets. The assets display
correctly in the user\\'s people record and the proper forward association from the perspective of the people Has Assets

and the reverse association Is Asset Of has been created. What could be wrong with the report?

A. The association filter is using the string Has Assets.

B. The association\\'s filter property Reverse Association is set to Yes.

C. The association filter is using the keyword $$RECORDID$$ for the record.

D. The association filter is using the business object of triPeople as the filter\\'s object.

Correct Answer: C

QUESTION 4

What is the required action to trigger an onChange event?
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A. A state transition action is clicked.

B. The field value is changed by a workflow.

C. Afield value is changed by a Data Integrator.

D. The user removing the focus from a field after changing its value

Correct Answer: D

QUESTION 5

If using a Retrieve Records task whose source object is the Start Task and the object to be retrieved is related to the
object of the Start Task by a Locator Field, which option in the From Records section would be the best to use?

A. Use It

B. Use Its Reference

C. Use Its Association

D. Use Any Associated BO from Module ... of Type ...

Correct Answer: B
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